MIAMI-DADE

MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

American Warming & Ventilating a div. of Mestek, Inc.
7301 International Drive
Holland, OH 43528

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. RER
reserves the right to revoke this acceptance if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION:  Model LE-54 5” Aluminum Louver System

APPROVAL DOCUMENT: Drawing No. 1686-1, titled “LE-54 Impact Louver System”, sheets 1 through
10 of 10, dated 12/19/2024, prepared by American Warming & Ventilating a div. of Mestek, Inc., signed and
sealed by Wayne K. Helmila, P.E., bearing the Miami-Dade County Product Control revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 23-0713.07 and consists of this page 1 and evidence pages E-1, E-2,
E-3 and E-4, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

% NOA No. 25-0106.04
MIAMI-DADE COUNTY N . N

02/19/25 Expiration Date: January 6, 2026

Approval Date: February 27, 2025

Page 1



American Warming & Ventilating a div. of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOAs

A. DRAWINGS “Submitted under NOA # 11-1117.15”

1.

Drawing No. 1670, titled “LE-54 Impact Louver System”, sheets 1 through 10 of 10, dated
07/23/2009, with revision A1l dated 11/07/2011, prepared by W. W. Schaefer Engineering &
Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS “Submitted under NOA # 09-1015.10”

1.

Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0305-09, dated 09/29/2009, signed and sealed by Vinu J. Abraham, P.E.
Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram, of “EA-52 Aluminum
Louver Systems", prepared by Hurricane Test Laboratory, Inc., Report No. 0198-
0715-09, dated 09/30/2009, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS “Submitted under NOA # 14-0513.08”

1.

Wood screw calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 04/14/2014, signed and sealed by Warren W. Schaefer, P.E.

“Submitted under NOA # 09-1015.10”
Structural calculations prepared by W.W. Schaefer Engineering & Consulting, P.A.,
dated 10/06/2009, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS

1.

None.

F. STATEMENTS “Submitted under NOA # 14-0513.08”

1.

Statement letter of code conformance to 2010 and 5" edition (2014) FBC issued by W. W.
Schaefer Engineering & Consulting, P.A., dated 04/14/2014, signed and sealed by Warren W.
Schaefer, P.E.

No financial interest letter issued by W. W. Schaefer Engineering & Consulting, P.A, dated

04/14/2014, signed and sealed by Warren W. Schaefer, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.04

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



American Warming & Ventilating a div. of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. Evidence submitted under NOA # 17-0713.10

A. DRAWINGS
1. Drawing No. 1670, titled “LE-54 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision B1 dated 07/05/2017, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 5™ Edition (2014) and 6 Edition (2017)
FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated 07/05/2017,
signed and sealed by Warren W. Schaefer, P.E.
2. Company name change request letter issued by W.W. Schaefer Engineering &
Consulting, P.A., dated 07/05/2017, signed by Warren W. Schaefer, P.E.

3. Evidence submitted under NOA # 20-0622.20

A. DRAWINGS “Submitted under NOA # 19-0401.02”
1. Drawing No. 1670, titled “LE-54 Impact Louver System”, sheets 1 through 10 of 10,
dated 07/23/2009, with revision C1 dated 03/14/2019, prepared by W. W. Schaefer
Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

i

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.04

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



American Warming & Ventilating a div. of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 6™ edition (2017) and 7" edition (2020) of
the FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated
06/03/2020, signed and sealed by Warren W. Schaefer, P.E.
“Submitted under NOA # 19-0401.02”
2. Statement letter of no financial interest issued by W. W. Schaefer Engineering &
Consulting, P.A., dated 03/14/2019, signed and sealed by Warren W. Schaefer, P.E.

4. Evidence submitted under NOA # 23-0713.07

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade County Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS

1. Statement letter of code conformance to the 7™ edition (2020) and 8™ edition (2023) of the
FBC issued by W. W. Schaefer Engineering & Consulting, P.A., dated 07/01/2023, signed

and sealed by Warren W. Schaefer, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.04

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



American Warming & Ventilating a div. of Mestek, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

S. NEW EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 1686-1, titled “LE-54 Impact Louver System”, sheets 1 through 10 of
10, dated 12/19/2024, prepared by American Warming & Ventilating a div. of Mestek,
Inc., signed and sealed by Wayne K. Helmila, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. Louver A520 anchorage calculations, prepared by Rice Engineering, dated
01/02/2025, signed and sealed by Wayne K. Helmila, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 8" edition (2023) of the FBC and of no
financial interest, issued by Rice Engineering, dated 01/07/2025, signed and sealed by
Wayne K. Helmila, P.E.
2. Verification test contract letter, issued by Intertek, dated 02/14/2025, signed by Austin
L. Wilcox, product engineer.

e

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 25-0106.04

Expiration Date: January 6, 2026
Approval Date: February 27, 2025



PANEL LOAD TABLE
(WITH SIDE CLIPS)

PANEL ()CLIP | ALLOWABLE
WIDTH SPACING | PRESSURE
(IN.) (IN) (+/- PSF)

8 120
36 13 104
18 75
8 120
42 13 89
18 64
8 120
48 13 78
18 56
8 120
54 13 69
18 50
8 120
60 13 62
18 45

(1) CLIP SPACING WITHIN SLEEVE
MOUNTED LOUVERS MAY NOT VARY AND
SHALL ALWAYS BE 8",

GENERAL NOTES

1) THESE LOUVER SYSTEMS HAVE BEEN TESTED, ANALYZED, & APPROVED FOR DESIGN PRESSURES NOT TO
EXCEED THOSE SHOWN IN THE ALLOWABLE DESIGN PRESSURE TABLE(S).

|—+—— 60" MAX FRAME WIDTH

SEE CORNER
CONSTRUCTION
DESCRIPTIONS %
\\\\\““H/// ON THIS SHEET M ;
\\\ . // N>
JAMB CLIP é
AT SIDES z '0g
ONLY (NOT OPPOSITE SLEz
APPLICABLE Wwso Al
WHEN a59x
- LOUVER IS v oo
SLEEVE WT %
e
MOUNTED) Wi oo
o =
i -
= r
5
= — — o
sams seiice — | ] ALLOWABLE DESIGN [ 2 lo, 3
WHEN REQUIRED — — g 2
FOR STACKING ] PRESSURE - wyss ¥
(SEE SECTION (SINGLE LOUVER PANEL) @ z g <
A1/4 FOR DETAIL). - — Fur g
SPLICE LOCATION — SEE "PANEL LOAD TABLE" — w rj—: o= 25
TO BE BETWEEN ] ONTHISSHEETFOR [~ o 20 =
JAN 3 0 2025 BLADES. ALLOWABLE PRESSURE. &
<
EXTERIOR ELEVATION:

2)  OPENINGS, BUCKING, & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER

SINGLE WIDE LOUVER PANEL
(ARCHITECTURAL & NON-ARCHITECTURAL)

SCALE: 1/2" = 10"

JAMB ANCHORS TO SUBSTRATE
PER ANCHOR REQUIREMENTS

TABLE

ON SHEET 1. SEE ANCHOR

SPACING TABLE ON THIS SHEET
FOR SPACING & END DISTANCE.

=
é — CONTINUOUS —
g g l___ E g —SUPPORT ANGLE—]
Y oaifs M Gyiw
2505 ~ JAMB SPLICE WHEN
For® B1 REQUIRED FOR STACKING
X wre® VE4/ |— (SEE SECTION A1/4 FOR
= o 20 /B2 S DETAIL), SPLICE LOCATION
& <, TO BE BETWEEN BLADES.
>
I\" L <
] 1
o
2 B Bo el LOUVER (REF
= z .
Y owg€F  ptoueer | — ELEVATIONS ON
BEOF SHEET 1 &2)
<P
Foe? 7
2 HExs H
= o E (&]
&

e

SUPPORT ANGLE TO LOUVER FRAME CONNECTION

SCREW, SEE ANCHOR SPACING TABLE ONTHIS
SHEET FOR SPACING & END DISTANCE,

INTERIOR ELEVATION:

(OPTIONAL SIDE JAMB INSTALLATION WITH
CONTINUOUS SIDE ANGLES)

PANEL ANCHOR SPACING/PRESSURE TABLE
(WITH CONTINUOUS SIDE SUPPORT ANGLE)
ANGLE TO ANGLE TO LOUVER
PANEL SUBSTRATE ANCHORS FRAME SCREWS ALLOWABLE
WIDTH (IN.) PRESSURE
SPACING | ENDDIST. | SPACING | END DIST. (+/- PSF)

(IN.) (IN.) (IN.) (IN.)
8 4 4 2 120
36 13 7102 712 3 3/4 104
18 9 9 4172 75
8 4 4 2 120
42 13 712 7112 33/4 89
18 9 9 4112 64
8 4 4 2 120
48 13 712 7102 33/4 78
18 9 9 4102 56
8 4 4 2 120
54 13 712 712 33/4 69
18 9 9 412 50
8 4 4 2 120
60 13 712 712 33/4 62
18 9 9 4112 45

NOTE: SINGLE LOUVER PANELS MAY BE
STACKED/SPLICED VERTICALLY OR THE
LOUVER PANEL MAY RUN VERTICALLY TO
INFINITE HEIGHT PROVIDING OPENING IS

FOR DETAIL NOT SHOWN,
WIND LOADS TO THE STRUCTURE. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE SCALE: 1/2" = 1-0" { .
STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE LOADS SUPERIMPOSED BY THE SEE OTHER ELEVATIONS) PROPERLY DESIGNED BY OTHERS TO
LOUVERS., SUPPORT THE LOUVER PANELS.
ANCHOR REQUIREMENTS TABLE

3)  ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANGE WITH THESE DRAWINGS & SHALL NOT VARY RI C 'E Q
UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE MATERIAL ENGINEERING JANMB ANCHORS
SHALL BE BEYOND WALL FINISH OR STUCCO. SLEEVE SPLICING NOTE FOR SLEEVE MOUNTED LOUVERS:

105 School Creek Trail SUBSTRATE FASTENER gx&’lﬁg MIN.EMBED | MIN. EDGE :

4)  THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR Luxemburg, W) 54217
IMPACT, CYCLIC, & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING Phone: (920) 617-1042 WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA. 8.8, LAG SCREW 2 2-3/8" 112" SLEEVE MAY BE SPLICED ALONG HORIZONTAL OR
CODE PROTOCALS TAS-201, 202, & 203 FOR LARGE MISSILE IMPACT LOUVERS. Fax: (920) 617-1100 A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65ksi 8.5. SCREW 2 FULL 172" VERTICAL RUNS PROVIDING SPLICE DOES NOT OCCUR

5)  THESE LOUVER SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF yww rige-ine.com METAL STUD (MIN. 16 GA. 33 KS) 1/4-14 300 SERIES Fy=65ksi 5.5, SCREW 2 FULL 2 WITHIN 12" OF ANY VERTICAL MULLION CENTERLINE.

THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOGITY HURRICANE ZONES (HVHZ), Florl?a Firm No: 5-01000005061 ALUMINUM (MIN. 1/8" THK. 6063-T5) _|1/4-14 300 SERIES Fy=65ksi S.5. SCREW 2 FULL 112"
Certificate of Authorization: #9090 " "
6)  IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE LOUVER SYSTEMS. Wayne K. Helmlla CMU (MIN. C-90) 1/4 300 SERIES S.5. MASONRY SCREW 2 2 4
Registration No: 59092 CONCRETE {MIN. 4000 PSI) 1/4" DIA. S.S. WEDGE ANCHOR 2 1-3/4" 2" CORNER & BLADE END CONSTRUCTION:

7)  ALL ANCHORS SECURING LOUVER FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL BE CONGRETE [ALT1 (il 3000 PSI ; " "

CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD. [ALT (MIN. ) 9/8" DIA. S.5. CONCRETE SCREW ! 2 2 FRAME HEAD: HORIZONTAL MEMBER 1S SQUARE CUT
NON-REINFORGED MULLION END CLIP ANCHORS TRAVE AEAL. ,

8) DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
ACCORDANGE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD SUBSTRATE FASTENER QTY PER GLIP| MIN.EMBED | MIN. EDGE TWO (2) NO. 7 X 1-1/4" SMS HEX HEAD SCREWS INTO
CALCULATIONS IN ACCORDANGE WITH THE FLORIDA BUILDING GODE, A DIRECTIONALITY FACTOR OF KD = 0.85 — - : -

MAY BE APPLIED PER THE ASCE-7 STANDARD. WOOD (MIN. GR. 3 & G=0.55) 1/4" DIA. S.S. LAG SCREW 8 2-3/8' 1.1/2 THE HORIZONTAL MEMBERS SCREW SPLINES.
A36 STEEL (MIN. 1/8" THK.) 1/4-14 300 SERIES Fy=65ksi 5.5, SCREW 8 FULL 112"
9)  NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUGT. WIND LOAD - — . FRAME SILL: VERTICAL MEMBERS ARE ANGLE CUT,
D URATION FACTOR b & 1.6 WAS USED FOR WOOD SOREW ANALYSIS ONLY. METAL STUD (MiN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=65ksi 5.5. SCREW 8 FULL 112 EUTTED TG HORIZONTAL MEMBER. & FASTENED WITH
ALUMINUM (MIN. 1/8" THK. 6063-T5) _|1/4-14 300 SERIES Fy=65ksi 5.5. SCREW 8 FULL 12" WO A S CREWS
Ry e A TR il GONGRETE (1. 4018 P50 R 7 T VERTIGAL MEMBERS SCREW SPLNES. -
) CONCRETE [ALT.] (MIN. 3600 PSI) 3/8" DIA. S.S. CONCRETE SCREW 8 2-4/2" 3-1/2" )

11) EAGH LOUVER ASSEMBLY SHALL BE PERMANENTLY LABELED AS FOLLOWS: TUBE MULLION END CLIP ANGHORS BLADE END: HORIZONTAL BLADES ARE SQUARE CUT,

gg@i{ﬁgﬂ;’ggx'gﬁ AND VENTILATING SUBSTRATE FASTENER QTY PER END | MIN.EMBED | MIN. EDGE BUTTED TO VERTICAL MEMBERS, & FASTENED WITH
: e
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED WOOD (MIN. GR. 3 & G=0.55) 174" DIA. S.S. LAG SCREW 0 ERTIC Y ;ﬂ\% (EzérégE(/VOgPlslglE Eé X 1-1/4" SMS SCREWS INTO THE

12)  THESE LOUVERS ARE NOT TESTED FOR WATER INFILTRATION RESISTANGE; THEREFORE THE LOUVERS ARE A36 STEEL (MIN. 1/8" THIK) 1/4-14 300 SERIES Fy=65ksi S.5. SCREW 8 FULL L
TO BE INSTALLED IN A LOGATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO DRAIN WATER METAL STUD (MIN. 16 GA. 33 KSI) 1/4-14 300 SERIES Fy=65ksi 5.5, SCREW 8 FULL 172"
zm%g@gm‘; 'C')“;CS’JS!EL?%OM' AND THE ROOM WILL HOUSE WATER RESISTANT/WATER PROOF EQUIPMENT, ALUNINUM {MIN. 1/8" THK. 6063-T5) _|1/4-14 300 SERIES Fy=65ksi S.S. SCREW 8 FULL 12"

: CONGRETE (MIN. 3000 PSI) 112" $.5. WEDGE ANCHOR 2 3-3/4" 5"
THESE DRAWINGS AR 0D
13)  MULLED PANELS MAY BE HORIZONTALLY INSTALLED TO AN UNLIMITED NUMBER, VERTICAL STACKING OF - - sgec " E APPL'CGBLE ONLY TO THE PRODUCT
1. Concrete screws shall be Hilti KWIK HUS-EZ stainless steel, {FIED. THEY MAY NOT BE USED FOR THE ASSEMBLY AND/OR
MULLED PANELS MAY OCGUR PROVIDING A STRUGTURAL SUPPORT IS DESIGNED & INSTALLED BY OTHERS TO oel.
2. CMU screws shall be Dewalt Aggre-Gator HWH 300 Series stainless steel. INSTALLATION OF ANY OTHER PRODUCT NOR MAY THEY BE USED
SUPPORT ALL LOADS TRANSFERED FROM THE LOUVER ASSEMBLY (SINGLE PANELS MAY RUN TO UNLIMITED Zom e e K e Ctoinioss oroet FOR RATIONAL AND/OR LOGAL APPROVAL GF ANY PRODUGT NOT
HEIGHT PER ELEVATION IF NO MULLION EXISTS). g A o ¢ oft 12 staniess stael PRODUCED BY THE MANUFACTURER STATED ON THESE DRAWINGS
4. CMU is applicable at jambs only. .
PRODUCT REVISED REVISIONS DATE: 19 DEC, 2024 || STEET N
as complying with the Florida LE-54 IMPACT REV.] DATE | DESCRIPTION BY |[DRAWNBY: 10of 10
Non N Code LOUVER SYSTEM ~
WWww.awv.com NOA-No. 25-0106.04 CHECKED BY: e
A MESTEK COMPANY P 01/06/2026 SC{\L,EE:_ . |
3= 10
219 S. CHURCH STREET, SUITE 200 Expiration Date U_/06/20-0 l
BOWLING GREEN, CHIO 43402 /i REV.
This draving and the Information containad thereln Is the property of MESTEK, Inc, By b 346 56_ST D

and cannot ba reproduced in whole or In part, nor defiverad to others without the

express written permission of MESTEKX, Inc.

Miami-Dade Product Control



Carlos Utrera
New Stamp


MULLION ALLOWABLE DESIGN PRESSURE
(NON-ARCHITECTURAL LOUVERS) 60" MAX FRAME WIDTH | ~——— 60" MAX FRAME WIDTH 60" MAX FRAME WIDTH RIC E
Aty A2 1Y D2 Y D3 Y D4 Y D5
ALLOWABLE PRESSURE N, 7 K7 s K8 Ks ) ENGINEERING
MAXIMUM UM LOAD (+- PSF) 105 School Creek Trail
MULLION Span | MAXIM
WIDTH (IN.) Luxemburg, W1 54217
(IN) WITH NO TUBE | WITH 4" X 3" X 3/16" |WITH 4" X 3" X 1/4" Phone: (920) 617-1042
MULLION TUBE MULLION | TUBE MULLION ‘ . - Fax: (920) 617-1100
} Tt
60 30.6 46.1 614 ! ! PPOSITE WWW.fice-inc.com
54 34.0 51.2 58.3 BN ZF) e Florida Firm No: F-01000005061
Wz pil I Wi v Certificate of Authorization: #9090
48 38.3 57.6 76.8 HE 4 N9 2] AL Wayne K. Helmila
42 43.7 65.8 87.8 2 ue (B2 F2 ¥ F2 1 Registration No: 59092
120 Fod 4/ I 9 /] ; 9 /] !
36 51.0 76.8 102.4 O e T T i
30 612 92.2 1200 Hue Cs ) i
24 76.5 115.2 120.0 ua e ™ - : —
18 1oé 0 200 3200 zib NED - ALLOWABLE DESIGN —
: : : LR ] PRESSURE -
60 42,0 63.2 84.3 % e } - - I
=23 -— (MULTIPLE —
54 46.6 70.2 93,6 ot g = — NON-ARCHITECTURAL [
48 52.5 79.0 105.3 e2 ] PANELS) -
42 60.0 90.3 120.0 — SEE MULLION 1
108 36 70.0 105.3 120.0 S PRESSURE TABLE -
} ] ON THIS SHEET. — !
30 84.0 120.0 120.0 . |
24 104.9 120.0 120.0
18 120.0 120.0 120.0 <
FOR LOCATIONS OF JAMB
50 %63 0.0 120.0 CLIPS, SEE SINGLE PANEL
54 62.5 100.0 120.0 ELEVATION (NOTE THAT l<———— MULLION LOAD WIDTH —————{~——— MULLION LOAD WIDTH ———|
48 703 1125 1200 ig’g[ﬂE SPL'SELEJE%ESNT%T PANEL PANEL PANEL
05 P Y 1200 1200 YTOM ) CENTERLINE CENTERLINE CENTERLINE
36 93.8 120.0 120.0
30 1125 120.0 120.0 EXTERIOR ELEVATION:
24 120.0 120.0 120.0 MULTIPLE LOUVER PANELS
&0 54.3 120.0 120.0 (NON-ARCHITECTURAL)})
. " ] tL
54 71.4 120.0 120.0 SCALE: 1/2" =10
48 80.4 120.0 120.0 (3 PANEL UNIT SHOWN; MORE THAN
84 3 PANELS MAY BE MULLED/STACKED
42 91.8 120.0 120.0 HORIZONTALLY)
36 107.1 120.0 120.0
30 120.0 120.0 120.0
60 75.0 120.0 120.0
54 83.3 120.0 120.0
72 48 93.8 120.0 120.0
42 107.1 120.0 120.0
36 120.0 120.0 120.0
60 90.0 120.0 120.0
60 54 100.0 120.0 120.0 PRODUCT REVISED
48 112.5 120.0 120.0 as complying with the Florida
Building Code
42 1200 120.0 120,0
- s 125 20,0 500 NOA-No. 25-0106.04
54 120.0 120.0 120.0 Expiration Date 01/06/2026
42 60 120.0 120.0 120.0 P é ¢/
NOTES! By £
1, SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH, Miami-Dade Product Control
2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF THE PRESSURE SHOWN IN THIS
TABLE & THAT SPECIFIED FOR THE INDIVIDUAL LOUVER PANEL, :
CERTIFICATION LE-54 IMPACT REVISIONS DATE: 19 DEC, 2024 SHEET No.:
- REV.] DATE | DESCRIPTION BY _||DRAWNBY: MTC 2of 10
WWw.Quv.com LO UVE R SYSTEM CHECKED BY: e
A MESTEK COMPANY | SC%'E £ 1o l
219 S, CHURCH STREET, SUITE 200
BOWLING GREEN, OHIO 43402 REV.,
o b i e s v 34656-STD
axpress written permisslon of MESTEK, Inc,



Carlos Utrera
New Stamp


MULLION ALLOWARBL.E DESIGN PRESSURE
ARCHITECTURAL LOUVERS |e—— 60-3/8" MAX FRAME WIDTH ——s}—=—— 59-7/16" MAX FRAME WIDTH 60-3/8" MAX FRAME WIDTH —|
(YR 1 LT 1 RICE
1 MAX GAP T MAX GAP
NAIMUM | MAXIMUM LOAD | ALLOWABLE PRESSURE s A Na/) 8 NEABAE/ 8 ENGINEERING
SPAN (IN.) WIDTH (IN.) (+/- PSF) 105 School Creek Trait
. T T Luxemburg, Wi 54217
o0 P | | Phone: (920) 617-1042
: t f Fax: (920) 617-1100
54 68.3 1 I www.rice-inc.com
48 76.8 /—\ i f QPR Florida Firm No: F-01000005061
120 i B1 (E Y (E Y Certificate of Aljthorization' #9090
42 87.8 4 ANEW t A4 ANEW4 t A4 v Wayne K. Helmila
36 102.4 = B2 T , Registration No: 59092
%0 1200 o g i ;
X
60 84.3 w %, | |
54 93.6 % (B4 i i
108 m pr— £ ) I—| ALLOWABLE DESIGN —%
: 2 I PRESSURE !
42 120.0 = I ]
5 i (MULTIPLE i
96 60 1200 = , ARGHITECTURAL T
NOTES: l PANELS) {
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. [ SEE MULLION T
2. ALLOWABLE UNIT PRESSURE SHALL BE THE LESSER OF i PRESSURE TABLE i
THE PRESSURE SHOWN IN THIS TABLE & THAT SPEGIFIED i ON THIS SHEET. .
FOR THE INDIVIDUAL LOUVER PANEL. | N
i
: ;
FOR LOCATIONS OF JAMB < <
CLIPS, SEE SINGLE PANEL
ELEVATION (NOTE THAT
FRAME SPLICE DOES NOT
APPLY TO MULLED UNITS)
EXTERIOR ELEVATION:
MULTIPLE LOUVER PANELS
(ARCHITECTURAL)
SCALE: 1/2" = 10"
(3 PANEL UNIT SHOWN; MORE THAN
3 PANELS MAY BE MULLED/STACKED
HORIZONTALLY)
PRODUCT REVISED
as complying with the Florida
Building Code
NOA-No. 25-0106.04
Expiration Date 01/06/2026
/%«y
By I\
Miami-Dade Product Control
CERTIFICATION LE-54 IMPACT REVISIONS DATE: 19 DEC, 2024 SHEET No.:
REV.| DATE | DESCRIPTION BY _|IDRAWNBY: MTC 30of 10
www.qawv.com LOUVER SYSTEM CHECKED BY: e
A MESTEK COMPANY ISCAL‘i'E:_ — I
219 8. CHURCH STREET, SUITE 200 12" =10
BOWLING GREEN, OHIO 43402 REV.
T s o ot o et e o 34656-STD
express written permission of MESTEK, Inc.



Carlos Utrera
New Stamp


SEALANT AND
BACKER ROD
BY OTHERS

f \ SUBSTRATE BY
w OTHERS
[&]
I CLIP ANCHOR PER
2 ANCHOR REQUIREMENTS
% TABLE ON SHEET 1
=
&
14) JAMB CLIP
JAMB SPLICE
(MULLION SPLICE
£ 1S NOT PART OF
% THIS APPROVAL)
I
¢
4 7 Ar J
s EXTERIOR INTERIOR

SUBSTRATE BY

/ OTHERS

SEALANT AND

FRAME HEIGHT

BACKER ROD
BY OTHERS
? 1
w 1/8" X 1" WELD
Q /" EACH SIDE
0.
w
E O—
&
\@ JAMB CLIP
JAMB SPLICE

(MULLION SPLICE

IS NOT PART OF

THIS APPROVAL)

EXTERIOR

INTERIOR

JAN 3 0 2025

CLIP/JAMB ANCHOR PER
ANCHOR REQUIREMENTS —~
TABLE ON SHEET 1

SUBSTRATE BY
OTHERS ~

SEALANT AND
BACKER ROD —
BY OTHERS

1

~ SECTION

5" MAX SPACE -~

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: (920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
Wayne K. Helmila
Registration No: 59092

INTERIOR

EXTERIOR

FRAME
WIDTH

(81

SCALE: 3" = 10"
(NO SLEEVE & CLIPS TURNED OUT)

\4/

Ba we
5 ® =i CLIP/JAMB ANCHOR PER INTERIOR
& & & ANCHOR REQUIREMENTS —|
%2 %2 TABLE ON SHEET 1
= = N eTTTTT = ==
NI ®_\[ o LD
Su =30 SUBSTRATE BY
SUBSTRATE OTHERS ~
A { / BY OTHERS ‘ ]
t f [ SEALANT AND
BACKER ROD —
BY OTHERS
_// Ve
(3) DRAIN PAN (3) DRAIN PAN \_ - EXTERIOR
BLOGKING & BED OF BY OTHERS PRODUCT REVISED e AX SPACE FRAME
SEALANT BY OTHERS as complying with the Florida 2 - WIDTH
Building Code
/N N NOA-No. 25-0106.04 SECTION Jo
SECTION Al SECTION A2 L B2
SCALE: 3"=1-0" 4/ SCALE: 3" = 10" 4/ Expiration Date 01/06/2026 SCALE: 3" = T0" 4/
,//]
(SLEEVE MOUNT) By /Q% (NO SLEEVE & CLIPS TURNED IN)
Miami-Dade Product Control
CERTIFICATION REVISIONS DATE: 19 DEG, 2024 SHEET No.:
LE-54 IMPACT REV.] DATE | DESCRIPTION BY _||DRAWNBY: 4 0of 10
MTC 0
www.awv.com LOUVER SYSTEM CHECKED BY: e
A MESTEK COMPANY SO |
219 S, CHURCH STREET, SUITE 200
BOWLING GREEN, OHIO 43402 REV,
“This drawing and the Information contained thereln 13 the properly of MESTEK, nc, 3 4 6 5 6 - ST D
and cannot ba reproduced In whole or In part, nor delivered to olhers without the [E—
express writlen permission of MESTEK, Inc.



Carlos Utrera
New Stamp


SEALANT AND

BY OTHERS

BACKER ROD — %

SUBSTRATE
BY OTHERS

AN

14

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE

ON SHEET 1 (4 PER CLIP)

4" MAX

/—@

8" MAX C/C

R

EACH EDGE
OF ANGLE ‘
f p— 11
| g
< | ]
% B i
% ! '
= /N |
& |
SUBSTRATE BY __ | & |
OTHERS g o
|
SEALANT AND L A
BACKER ROD v
BY OTHERS
iy A
M Y S,
| S——
EXTERIOR EXTERIOR g’ INTERIOR
27
" . FRAME
1/2" MAX SPACE WIDTH
e
; R
i} | |
SECTION /o) o | ({/ |
SCALE:3"=1-0" \5/ w | |
(WITH SLEEVE & CLIPS TURNED OUT) w i
i
E
I
|
E
i
EACH EDGE |
OF ANGLE 1
|
. !
[a}
o0
s
(]
%2
==
NI
SUBSTRATE BY =0
OTHERS ~ ;
=
130IRIEIRREIRSIR3DSNRRSIRNNRANERNV AN A NI RARI MRS
SEALANT AND t
BACKER ROD —|
BY OTHERS

(3) DRAIN PAN /

5" MAX

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1 (5 PER CLIP

INTO WOOD SUBSTRATE;

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: {920) 617-1042
Fax: (920) 617-1100
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9080
Wayne K. Helmila

Registration No: 59092

MULLION CLIP
ANCHORS (REF.)

{
!

N .

(FOR DETAIL NOT SHOWN,
SEE SECTION E/9)

PRODUCT REVISED

4 PER CLIP INTO ALL
EXTERIOR / \ OTHER SUBSTRATES) as complying with the Florida
Building Code
112 MAX SPACE —>- s SEALANT B OTHERS BY OTHERS NOA-No. 25-0106.04
Expiration Date 01/06/2026
SECTION (B SECTION /o By .
SCALE: 3" =1-0 W SCALE:3"=1-0 W Miami-Dade Product Control
(WITH SLEEVE & CLIPS TURNED IN) (ARCHITECTURAL LOUVER WITHOUT PERIMETER JAN 3 0 2025
SLEEVE; INSTALLED INTO WOOD, STEEL,
ALUMINUM, OR METAL STUD SUBSTRATE)
CERTIFICATION REVISIONS DATE: 19 DEC, 2024 || STEET Noi
q w V LE-54 IMPACT REV.| DATE | DESCRIPTION BY _|[DRAWNBY: TG 50f 10
wuwuw.awv.com LOUVER SYSTEM CHECKED BY: G
A MESTEK COMPANY ISC%%E; g I
219 8. CHURCH STREET, SUITE 200
BOWLING GREEN, OHIO 43402 REV,
ot e b 1areocod vt of b par nr Gclvered i vt it 34656-STD
express written permission of MESTEK, Inc,



Carlos Utrera
New Stamp


y /\ SUBSTRATE
SUBSTRATE BY OTHERS
BY OTHERS TUBE MULLION CLIP L MULLION GLIP
u ANGHOR PER ANCHOR ANCHORS (REF.) 5
— REQUIREMENTS TABLE SEALANT AND \;
L/ ON SHEET 1 (1 PER CLIP) BACKER ROD
BY OTHERS
N
| $
HD ' /_@
- : , o i e -
, —
; ® | :
| a | |
| g | |
I g
L e 2 d b
AN s | ©-—]
@) = i :
I | O |
| - \/\ I
— A
\—*‘L(\l
V 4, @F @Ib \/\
EXTERIOR INTERIOR / /\ EXTERIOR INTERIOR
(FOR DETAIL NOT SHOWN,
- N : /—@ P SEE SECTION E/9) 3 - N :
[}
I ! T l |
! © ! 4 PER ANGLE £ ! © [ JAN 30 2025
< i S e (1 AT EACH CORNER) 2 A l R ' .
| | I |
| @© I l D, |
| r | | — | |
| | O e | |
! i 6) ! / [ |
| 1 S I l
| | * . | |
: i ' ' S l l
i | e | ! o [ i
| | ! ! ~Tey | |
| l ! ! v [ |
| o | — | | { E
! I ' ’ | :
— @ in ! } wa |
| = [ 1 £
=2 [ | ar
yd o +
=
ll /_@ : } <% 83 [
l l
. — n { ! L
l|]l“]l))))]]))”ll)H)))))))H))“)“])])]))))]” T l ‘
|~ TUBE MULLION CLIP 1 ! f
ANCHOR PER ANCHOR s .
REQUIREMENTS TABLE i l
/ ON SHEET 1 (1 PER CLIP) : E |
I |
i 9 e
]
SUBSTRATE i (@] | - / RICE
BY OTHERS [ [ PN ENGINEERING
: : 106 School Creek Trail
| | Luxemburg, WI 54217
SECTION (e ! % | POSITION OF THE SLEEVE PERIMETER SUPPORT SECTION (c3Y Phane: {920) 617-1042
SCALE: 3"=1-0" \&/ v ANGLE VARIES WITH SUBSTRATE THICKNESS a MAY | SCALE: 3" = 10" \6/ Fax: (820) 617-1100
_»l ] BE POSITIONED UNDER THE MULLION END Www.rice-inc.com
SUPPORT ANGLE. WHEN THIS OCCURS, THE SLEEVE Florida Firm No: F-01000005061
(ARCHITECTURAL LOUVER WITHOUT PERIMETER 2 SUPPORT ANGLE WHEN THIS OCCURS, THE SLEEVE | (ARCHITECTURAL LOUVER WITH PERIMETER ~ Florda Firm No: 01000005061
SLEEVE; INSTALLED INTO CONCRETE SUBSTRATE) (FOR DETAIL NOT SHOWN, THE ANGLE & MAY BE POSITIONED TO RUN SLEEVE; INSTALLED INTO ALL SUBSTRATES)  wayne K. Helmia
THROUGH THE MULLION END ANGLE AND SLEEVE. istration No:
(FOR DETAIL NOT SHOWN, SEE SECTION C1/5) SEE SECTION E/9) o SLEE (FOR DETAIL NOT SHOWN, SEE SECTION C1/6) Registration No: 59092
PRODUCT REVISED REVISIONS DATE: 19DEC, 200 ||STEET Mo
Q gs "I::'mplty;i“dg with the Florida LE-54 IMPACT REV.] DATE | DESCRIPTION BY _|[DrAWNBY: TG 6 of 10
uilding Code
www.cwv.com NOA-No. 25-0106.04 LOUVER SYSTEM CHEGKED BY: MG
A MESTEK COMPANY o SCALE:
219 5. GHURGH STREET, SUITE 200 Expiration Date 01/06/2026 [ e |
BOWLING GREEN, OHIO 43402 B Y/ REV.
e O MiarDede Product Control 34656-STD
express writtan permisston of , Inc,



Carlos Utrera
New Stamp


Vil
\\\\\\ﬁ\\ K H.ISI/ / /y 7 SUBSTRATE BY
SUBSTRATE BY N ML T P / OTHERS
i RICE SCENL 2. conran
SEALANT AND ,
BACKER ROD MULLION CLIP ANCHORS ENGINEERING ; g BACKER ROD
BY OTHERS PER ANGHOR 105 School Creek Trail BY OTHERS
REQUIREMENTS TABLE Luxemburg, Wi 54217 .
ON SHEET 1 (8 PER CLIP) Phone: (920) 617-1042
‘ Fax: (920) 617-1100
www.rice-inc.com —
f Florida Firm No: F-01000005061 \@
W Certificate of Authorization: #9090 W
2 Wayne K. Helmila <
& Registration No: 59092 &
g g
& R &
r—ar——
| H
!
o /
| L /!
< J
74 3 | Lo e 7 3
¢ _O_0O | ©_6_0_6_4G¢
EXTERIOR INTERIOR
E 7 EQ. SPACES AT 13" 0.C. % o INTERIOR
2 G— PRODUCT REVISED g 2
€T as complying with the Florida _— e Yy — " 5 g
4 Building Code = i
§ NOA-No. 25-0106.04 é
Expiration Date 01/06/2026 /
7
_— By £ /
L% Miami-Dade Product Control
o~ 3 R [ e e e
1 ‘ ﬁl
f -® /
— = AT ENDS &
lé g ! § o MIDDLE; EACH
o | oy EDGE OF ANGLE
i2 %92
== ==
2 g
| S g i
i 9
f i e f
< |
w
| 5 i ®
@ < ] DRAIN
(3) DRAIN PAN J/ \— | ¢ @ PAN \_
MULLION CLIP ANCHORS PER ~ d SUBSTRATE
SUBSTRATE ] O i
ANCHOR REQUIREMENTS
N G TABLE ON SHEET 1 (8 PER CLIP) BY OTHERS ~ SECTION o2\ BY OTHERS
" SCALE: 3"=1-0" \7/
NON-ARCHITECTURAL LOUVER WITH
SECTION D (
SCALE- 3" = 10" @ [ PERIMETER SLEEVE & WITHOUT TUBE MULLION,;
' ~ | I INSTALLED INTO ALL SUBSTRATES)
(NON-ARCHITECTURAL LOUVER WITHOUT N MULLION CLIP ‘ (FOR DETAIL NOT SHOWN, SEE SECTION D1/7)
PERIMETER SLEEVE & WITHOUT TUBE MULLION; ANCHORS (REF.)
INSTALLED INTO ALL SUBSTRATES) Y .13 3 MmN POSITION OF THE SLEEVE PERIMETER SUPPORT ANGLE VARIES WITH SUBSTRATE
q 7 MINL THICKNESS & MAY BE POSITIONED UNDER THE MULLION END SUPPORT ANGLE. WHEN
3 THIS OCCURS, THE SLEEVE ANGLE ATTACHMENT SCREWS SHALL MOVE WITH THE
L_I* ANGLE & MAY BE POSITIONED TO RUN THROUGH THE MULLION END ANGLE AND SLEEVE,
CERTIFICATION REVISIONS DATE: 19 DEC, 2024 SHEET No.:
Q LE-54 IMPACT REV.| DATE | DESCRIPTION BY |[DRAWNBY: TG 7 of 10
WUWW.CUIV.Com LO UVER SYSTEM CHECKED BY: MG
A MESTEK COMPANY [SC%%E: o l
219 S, CHURCH STREET, SUITE 200
BOWLING GREEN, OHIO 43402 REV.
This dravding and the information contained therain ks the proparty of MESTEK, Inc, 3 4 6 5 6 _ S T D
and cannot b reproduced In whole or in part, nor delivered to others vdthout lhe Pp—
express written permisslon of MESTEK, Inc,



Carlos Utrera
New Stamp


SUBSTRATE

gié‘k‘;':{TR%NDD SUBSTRATE BY OTHERS TUBE MULLION CLIP
R e BY OTHERS ANCHOR PER ANCHOR
\ . REQUIREMENTS TABLE

L ON SHEET 1 (1 PER CLIP)

TUBE MULLION CLIP
ANCHORS PER ANCHOR
REQUIREMENTS TABLE
ON SHEET 1

MULLION CLIP /
ANCHORS (REF.) /

\ /
&)
1 5
n 13 i [——--— [ P @ | [___
r ~) ! = '
NN RN . s |
& | @ % |71 0y [ \\\\‘l“’// !
g | | : LT N , |
: | 3 o1 @ e K Heg, 7, | N
= | o = ® % .,:?} R4 s o @9
A | = |
Rusy | E——
f LA, O © =
o) | =%
—H () © EZ 0
EXTERIOR INTERIOR 7’ s EXTERIOR INTERIOR
e
pa e e @®
88 D
5 ! 6862 2 “““F{ /—..
wl
T | |
w T (FOR DETAIL NOT SHOWN, o) "
: _ — — — " SEE SECTION F1/9) JAN 3 0 2025 |
I | |
@ | @ |
/_. | | /_. [
| 3] o _;_
| 2 |
| - |
f - l
{ f /_@ MULLION GLIP d !
ANCHORS (REF.) |
E / ° { @
[ITa @
G E @ 2 (@) i
%2 )/ /_' = [ |
>=s o
=2 — l
©) o T
‘ — =2y — 1
- T TUBE MULLION CLIP A DD |~ TUBE MULLION CLIP
o
REQUIREMIENTS TABLE REQUIREMENTS TABLE
/ ON SHEET 1 / ON SHEET 1 (1 PER CLIP)
\; BLOCKING & BED OF \_ SUBSTRATE (@) SUBSTRATE / ﬁ
SEALANT BY OTHERS BY OTHERS PRODUCT REVISED
as complying with the Florida -1 RICE
SECTION /D3 :g‘:‘:jg Code 55-0106.04 = ENGINEERING
SCALE: 3" =1-0" \38/ ' - 105 School Creek Trail SECTION" — /D_A'\
(NON-ARCHITECTURAL LOUVER WITHOUT Expiration Date 01/06/2026 / B (500} 6171040 SCALE:3"=1-0" 8/
. / Fax: (920) 617-1100 .
PERIMETER SLEEVE AND WITH TUBE MULLION,; By /\% wi;(w,(rice»)inc.com (NON-ARCHITECTURAL LOUVER WITHOUT
INSTALLED INTO WOOD, STEEL, ALUMINUM, & Miami-Dade Product Control (FOR DETAIL NOT SHOWN, Florida Firm No: F-01000005061 PERIMETER SLEEVE & WITH TUBE MULLION;
METAL STUD SUBSTRATES) , SEE SECTION F1/9) Gerlificate of Authorization: #3090 INSTALLED INTO CONCRETE SUBSTRATE)
Wayne K. Helmil
(FOR DETAIL NOT SHOWN, SEE SECTION D1/7) R:g;,iggationeNrg! 50002 (FOR DETAIL NOT SHOWN, SEE SECTION D3/8)
CERTIFICATION REVISIONS DATE: 19 DEC, 2024 SHEET No.;
Q w V LE-54 IMPACT REV.| DATE | DESCRIPTION BY _|[DRAWNBY: e 8 of 10
www.quccom LOUVER SYSTEM CHECKED BY: ME
A MESTEK COMPANY SCALE
219 5. CHURCH STREET, SUITE 200
BOWLING GREEN, OHIO 43402 REV.
ooy o roprocnd n bt of 1 pr ot Gelveted i hot oo . 34656-STD o
express written permission of MESTEK, Inc,



Carlos Utrera
New Stamp


4 PER ANGLE > 1’ 2
(1 AT EACH CORNER) " 3/16 15 ‘j y
SUBSTRATE
BY OTHERS \/\ ‘ , /@
|
A =
SEALANT AND )2 @ | |
|
BACKER ROD (26) INpy |
BY OTHERS . L+ S
" R
| s
* | o || ™
— T L .
T 7R A e 1y @ e | | LI
. | B is | o .
& Bl \l\ ‘ ‘ @ § g —~®
‘ | S o O | U 0 O | T l l H t
: l N @ L = o= TR
& | - D) U] i f
= Y , @9 |
5 O \/\ | : { 1 i
L 1
[ I
! |
\/\ : [®) : EXTERIOR _,“,_ A max EXTERIOR EXTERIOR
| !
YA ! | SECTION CEN SECTION CFD SECTION 2N
o TERIOR NTEROR | © | g SCALE: 3"=1-0" 9o/ SCALE: 3"= 10" 9/ SCALE:3"=1-0" \¢/
O
: o { <y (ARCHITECTURAL LOUVER (NON-ARCHITECTURAL (NON-ARCHITECTURAL LOUVER
: } MULLION) LOUVER WITH TUBE MULLION) WITH NO TUBE MULLION)
E i I
o | |
: ” i
133
=
=
n (FOR DETAIL NOT SHOWN, nggzmTSHRgg& iTh?e
SEE SECTION F1/9) SUBSTRATE f— 3.000 —=] f 3,000 wemr]
1.500 MIN
J]
iﬂv 0125 —lr T
- 4.000 0.188 —] f=—0 4.000 0.250 —| f=—r
(5) SLEEVE J l
u‘é g 6.417 !
o 4 ’ [ TUBE MULLION TUBE MULLION
% ? (USED WITH (USED WITH
£ i 4824 ' / 4.824 ' NON-ARCHITECTURAL NON-ARCHITECTURAL
8 é T4 LOUVERS) LOUVERS)
; oo 0081 == 2,297
RI CE 2250 p.767 ' 0.060
* ENGINEERING J_ $_ OR . f— 3.000 —=]
105 School Creek Trail 0.080
e Luxemburg, Wi 54217 () HEAD (&) SILL PAN () BLADE
Phone: (920) 617-1042 J
Fax: {920) 617-1100
www.rice-inc.com |
- 5,078 | 5.000
sosras Aot el s Tl o~
ertinicate of Authorization: 3.470 .
BY OTHERS W K. Helmil . —
SECTION (D5 ReagiZ;arationeNZ]: 59092 0078 5.000 '
SCALE:3"=1-0" 9/
POSITION OF THE SLEEVE PERIMETER SUPPORT 0.078 1
ANGLE VARIES WITH SUBSTRATE THICKNESS & MAY T
BE POSITIONED UNDER THE MULLION END (NON-ARCHITECTURAL LOUVER WITH 5.250 : r 1.600 —
SUPPORT ANGLE. WHEN THIS OCCURS, THE SLEEVE |  PERIMETER SLEEVE & WITH TUBE MULLION; TUBE MULLION
ANGLE ATTACHMENT SCREWS SHALL MOVE WITH
THE ANGLE & MAY BE POSITIONED TO RUN INSTALLED INTO ALL SUBSTRATES) 1250 — BLADE SUPPORT ® gJ}fgﬁ%g?URAL
THROUGH THE MULLION END ANGLE AND SLEEVE. ® JAMB @
(FOR DETAIL NOT SHOWN, SEE SECTION D3/8) A @ SILL — BRACKET LOUVERS) JAN 3 U 2025
PRODUCT REVISED REVISIONS DATE: SHEET No.:
q w V as complying with the Florida LE-54 IMPACT REV.| DATE | DESCRIPTION BY |IDRAWNBY: ORI 9 0of 10
o g Code LOUVER SYSTEM e
wwuw.awv.com NOA-No. 25-0106.04 CHECKED BY: MC
A MESTEK COMPANY L :
219 S, CHURCH STREET, SUITE 200 Expiration Date 01/06/2026 ISC’;)"—.E o l
BOWLING GREEN, OHIO 43402 7 % REV,
This drawing and Ihe informatlon contained therein is the property of MESTEK, Inc. By K -
B e e wan sovaiscin ST e Miami-Dade Product Control 34656-STD e



Carlos Utrera
New Stamp


4.000 RICE ITEM # ITEM DESCRIPTION MANUFACTURER/NOTES
1.125 12.000 PARTS
4 7 SPACES @ 15" —— 0.750 ENGINEERING
0.750 ™ 9/32" DIA. HOLES + — : (TYP) 105 School Creek Trail 1 HEAD 6061-T6 ALUMINUM
— @ EB‘/ Luxemburg, Wi 54217 2 SILL 6061-T6 ALUMINUM
3.000 * A BN @ o) ) Phane: (920) 6171042 3 |siLPAN 5052-H32 ALUMINUM
) D 2.250 f Fax: (920) 617-1100
- 3M?r(\)10 WWW Ticesin.com 4 JAMB 6061-T6 ALUMINUM
— @ © ‘ ) ' Florida Firm No: F-01000005061 5 SLEEVE 5052-H32 ALUMINUM
J g 6 J/ S L Certificate of Al{thorization: #9090 5 BLADE 6061-T6 ALUMINUM
0.500 i ' ‘ ‘ —L Wayne K- Helmila 7 BLADE SUPPORT BRACKET 6061-T6 ALUMINUM
| 2000 | 0.250 Registration No: 69092
%» | t—— i f 0, 052" DIA. HOLES 8A TUBE MULLION (USED WITH NON-ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
0.750 ‘ 'F 0.375 0.250 88 | TUBE MULLION (USED WITH NON-ARCHITECTURAL LOUVERS 6063-T6 OR 6061-T6 ALUMINUM
63\\ 9/16" DIA \ED o) * 9 TUBE MULLION (USED WITH ARCHITECTURAL LOUVERS B063-T6 OR 6061-T6 ALUMINUM
2,000 " HOLES T § 10 MULLION END INSTALLATION GLIP 8061-T6 ALUMINUM
4000 + ® ® @ ® ® @ © ® 200 11 MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
0.875 ; -
R ) I 12 MULLION END CLIP FOR SLEEVE MOUNT LOUVERS 6061-T6 ALUMINUM
N IJ 7 SPACES @ 1.5" O.C. LI | 13 MULLION END INSTALLATION CLIP 6061-T6 ALUMINUM
0.750 0.750 14 LOUVER JAMB TO SUBSTRATE CLIP 6063-T5 ALUMINUM
6063-T5 ALUMINUM (WITHIN 4" OF SLEEVE CORNERS OR
MULLION END INSTALLATION CLIP (13 MULLION END INSTALLATION CLIP 15 SLEEVE OR TUBE MULLION TO LOUVER JAMB GLIP TUBE MULLION ENDS AND MAX 8" 0.C.)
16 TUBE MULLION TO LOUVER BLADE ANGLE (ARCHITECTURAL LOUVERS) 6063-T5 ALUMINUM
4.000 E{gle;z[s)[A‘ 13/32 DIA. HOLE FOR 0425 17 SLEEVE SUPPORT ANGLE 6063-T5 ALUMINUM
—= 2000 ﬁ 0.250 Q}E{%RS‘QR/EEDBOLT- . 18 LOUVER JAMB TO SUBSTRATE CLIP 6063-T5 ALUMINUM
B W . CENTERED IN CLIP. 1500 || 19 MULLION COVER 6063-T5 ALUMINUM
1.500 . ! T P 20 CONTINUOUS SUPPORT ANGLE 6063-T5 ALUMINUM
3.000 — ] T / 2,000 ; 1800 21 CONTINUOUS SUPPORT ANGLE 6063-T5 ALUMINUM
\ } @ O P 'mo ‘ 9/32" DIA. MISC. FASTENERS
. ; HOLES AT EACH p
B g/é(iEgnA. * i : LOUVER BLADE 25 1/4-14 X 3/4" SELF TAP/DRILL SCREW 2 PER CLIP
s . WITHIN 4" OF GORNERS & SLEEVE SPLICES. MAX 8" O.C.
& 26 1/4-14 X 3/4" SELF TAP/DRILL SCREW (CLUSTERED AT MULLION ENDS PER DETAILS)
# | 2000 0.250 2500 AS REQD /{9 27 [1/4-14 X 3/4" SELF TAPIDRILL SCREW 8"0.C. PER SECTIONS
| | . R i
0.750 (1" MIN) 9/32" DIA, - 4 L SCRE EAD ER BLADE
@ Z)T\S((I):’O) |> 6o ﬁ T__ 0,250 52 o, V & o 28 1/4-14 X 3/4" SELF TAP/DRILL SCREW . \‘\\H 1] “”’I// 4 AT HEAD & 2 PER BLA
f \‘ 9/16" DIA. MAX O.C. 29 1/2" X 5" HEX HEAD STAINLESS STEEL NUT & @:b} A K. H £ /// 2 PER MULLION END
40062000 HOLES ® T - ‘ SIS { 4%
7 0.375 S0 |1/4-14X 314" SELF TAPIDRILL SCREW a3 ;_% /‘ifng m % ,:; 10 PER CLIP
A /, ‘ 0,625 31 |1/4-14 X 3/4" SELF TAPIDRILL SCREW L;:Q' ENVAY - [1PERCLP
32 NO. 7 X 1/2" SMS SCREW WITHIN 6" OF CORNERS & 24" MAX O.C.
! o' DA, _| 735 No- 50082 \ /E
HOLES TUBE MULLION TO 33 11414 X 3/4" SELF TAPIDRILL SCREW <= oty * / mﬁR_EEQNCHOR SPACING/PRESSURE TABLE FOR SPACING
N LOUVER JAMB TO SUBSTRATE CLIP LOUVER BLADE ANGLE = 4 = .
-
(1 MULLION END INSTALLATION CLIP (LENGTH = CONTINUOUS) = 5 ~
N
n
9/32" DIA. HOLES & N
. 0.250
S o = {NOT REQ'D WHEN P LOR\OP NS 0.125
{ 0.250 TO SLEEVE) N \&Q N r
r 0.250 TO SLEEVE) T r /// S’ONAL 2 \\\ f
f 5.000 | -—' t«A 0.250 by [ T 2.000 RS - T 0.125 ,//l" il \\\\\\ 1
* T # % T 2.000" TO r 1.500"
0.750 @ 200 b / 3.000" i T TO 3.000"
@® | o7s0 —~] 2000 f=— | 1500 J f
2000 ? @ SLEEVE SUPPORT @ 0.750 !
4000 4000 ANGLE [ JAN 3 0 2025
@ | 2.500 —=]| 1.000 (LENGTH = CONTINUOUS)
0.500 ( 0250 e 2500 =] — A!S [};{]E(BDD I«———————« CONTINUOUS ]—-————»— CONTINUOUS
(Typ)y - — 2.000 0.500 0.250 I i
AS REQ'D FOR PROPER 1 (TYpP) r“ — 2.000
L———- FIT WITH TUBE & SLEEVE ~— 3.000 — 1.750 Py P 1.500 1.500
(NO LESS THAN 17 ;9 @ 0.079 f ! !
0.829 r 9/32" DIA. _/
] ! - HOLES
9/32" DIA. T T | |
HOLES
@ MULLION END CLIP FOR ® SLEEVE OR TUBE MULLION MULLION LOUVER JAMB TO SUBSTRATE CLIP CONTINUOUS SUPPORT ANGLE () CONTINUOUS SUPPORT ANGLE
AMB CL COVER 2" LEG SHALL BE SECURED 1.5" LEG SHALL BE SECURED
SLEEVE MOUNT LOUVERS TO LOUVER JAM P TO THE LOUVER JAMB TO THE LOUVER JAMB
DATE: SHEET No.:
PRODUCT REVISED REVISIONS 19 DEC, 2024 ©
as complying with the Florida LE-54 IMPACT REV.] DATE | DESCRIPTION BY _|/DRAWN BY: wTe 10 of 10
Building Code
WWUW.OWV.com NOA-No. 25-0106.04 LOUVER SYSTEM CHECKEDBY:
A MESTEK COMPANY o 1 202 f SCALE: o ‘
219 5. CHURCH STREET, SUITE 200 Expiration Date 01/06/2026
BOWLING GREEN, OHIO 43402 B /ﬁ REV.
is drawil d the inft 4 tained therein is th of MESTEK, Inc, y b -
vt mpg;%;éggEﬁ:"g%’ﬂigﬁzf(;%gi?sﬁsgghmswmmu.m"; Miami-Dade Product Control 34656-STD o



Carlos Utrera
New Stamp




